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Define uniform circular motion and derive an
expression for centripetal force.

THEAE g Tfa S aRHIRa &) wd
e~ 90 & fov @ASid U Y |

8. Describe the motion of satellite. Find expression
for its orbital velocity and time period of
revolution. 8

SYUE B A BT 99 B | 39 B a7
Uqd gRYAY b & U o ured o |

OR(3721d)

Define viscosity and coefficient of viscosity. Write
two applications o viscosity and explain it.

TIEAT U4 Sl [T &1 gl &Y |
WEAT & &1 IGUArT &l ford vd fageiwor
B |

9. Define moment of inertia and radius of gyration.
Find the moment of inertia of uniform solid sphere
about its diameter. 8

Sred 3mgel vd guia Brear & gk«
B | Uh U S Mol $T SUD AT &
gRa: Srswa Imeel |rd W |
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Time : 3Hrs. Sem. I/Il - G
Engg. Physics

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |
Answer all Five questions from Group B, each question
carries 4 marks.
7u—B & il uia gl @ SR <, UAD U BT 4 4 3B 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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State and explain Kirchoffs law
fowEie @& Frm & fad qen s o |

Define kwh (kilowatt-hour). Calculate heat

developed in a wire of resistance 4.2 Q) and
current of 2A is flowing for 5 minutes. 4

fereriare et & aRufa &1 4.2 Q
UfoRlg & dR ¥ 2A &) oRT 5 fFe &
fore yarfea 81 @ 91 Sca—~ SsT @)
IOTET BN |

OR(3121dT)

Define eddy current. Explain the any four causes
of energy coss in transformer.

Far eRT bl gRUTNT B | STHHEHY d
Soll &9 © fhgl IR BRI B AT
B |

What are Ultrasonic waves ? Write down four

uses of it. 4

RIS a3 |1 2 2 390 dR SUAIT
BT Sool BN |

02008

(i)

(iii)

(i)

(iv)

3 02202/01102/P01102

ST &I S.IHT9b 2 |
(31) S

(3) D

(W) dare

(?) 39 9 &1 Tl

The value of %S{ is
(a) Greater than 1

(b) Less than 1

(c) Equal to 1

(d) Zero

%S(H)‘[‘TF[ ...............
(@) 1 9 qsT

(@) 1 9 Bier

(A 1 W

(|) =™

When a body is falling freely under gravity
then its ................ is uniform.

(a) Momentum

(b) Velocity

(c) Speed

(d) Acceleration

P.T.O
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(xx)  X-rays are (vi)
(a) Sound waves
(b) Electromagnetic waves

(c) Supersonic waves
(d) Matter wave

() X—fxor Bidl 2 |
(31) eafsr a=ar _ (vii)

(vii)
GROUPB

Answer all Five Questions.

gl o= ywAl @ SR © S5 =20
2. Define friction. Explains the methods to reduce (viii)
friction. 4

gyT B gRYTT &Y | g9 Bl HH B
@1 faferal & arer oY |

5 02202/01102/P01102

A V[T & 19 ATETAr ATH YT
9l Hedrdl 2 |

(31) @9 9t

(@) smaSH 9o

(@) Fera a@t

() 379 9 313 L

In SHM the maximum displacement of a
body from its mean position is called

(a) Frequency

(b) Amplitude

(c) Time period

(d) None

QAL H S avg &1 ST 9w
Refar I weaw fazemu= &1 war Sidr
2

(a1) mgfer

(@) 3mam™m

(d) srrda &1l

(@) 3 4 »Ig &

The internal frictional force produced in
florid flow is called.

(a) Viscous force

(b) Centripetal force

(c) Gravitational force

(d) None

P.T.O
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(xvi)

(xvi)

(xvii)

(xvii)

In thermionic emission electrons come from
(a) Nucleus

(b) Inner orbit

(c) Outer orbit

(d) None

AuralRTe Scaoid d sodgiT o il

e 21

@) o=

(@) Haq war

(|) srsdt oan

(]) 37H 4 HIg T8

Rate of emission of photo electrons depends
upon

(a) Intensity of incident light

(b) Wavelength of incident light

(c) Frequency of incident light

(d) None

Scafsfd wielsade™ fea wr ez
HIAT B 7

(31) smufad usrer &1 diadar

(@) smufaa geTer & a3 Qe

(&) smufad e &1 smgfa

(®) 39 9 BIg L0
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(x)

(xi)

(xi)
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(31) araq fafer @

(@) wagq fafr 4
(\) fafezor fafer &
(2) wrm fafer &

Three capacitor each of capacitance C are
connected in series, the equivalent
capacitance is
(a)3C
1
(b) 3°€
(©) &
@5

= walRa fod u@a & enlRar € 2

fofipd § G 2, SP! G gilkar 2 |

(a1 3C

@ 4c

(W)%
C
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10.

OR(3721d)

Define SHM. Discuss the motion of block tied to
a mass less elastic spring on a horizontal
frictionless table and show that the acceleration of
the block is always directed towards the mean
position in all the states of its motion.

YA Irdd A S R &% | ta asor
M dfas Sga R ARSI gARY T 9
g8 [ed @Y T &1 quvia W | @
[ed DI vl Afd &) <ems H arey Reafa
@1 IR € ar ¢ |

Explain heating effect of electric current. Find the
expression of heat developed in a current carrying
conductor. 8

fagra—arT & S u9rd &1 fageryor o |
fodl fagrdia are® 4 aRT & SR IAH
ST & URATYT &1 ASid UTd B |

OR(3721d)

Define electromagnetic induction. Explain
Faraday's and Lenz's law.

faga g uRer & 9RWIa &Y | BuS
Uq dv © el @ arer R |
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Define SHM. Discuss the motion of block tied to
a mass less elastic spring on a horizontal
frictionless table and show that the acceleration of
the block is always directed towards the mean
position in all the states of its motion.

W dd fa B gRAMNT S | g ayor
M dfae Sga R ARSI g RHT 9
g8 [ed @Y T &1 avia W | @y o
[ed DI VT Afd @) <emsil H arey Reafa
@1 3R €l ar & |

Explain heating effect of electric current. Find the
expression of heat developed in a current carrying
conductor. 8

fagra—arT & S uqrd &1 fagayor o |
fodl fagrdia aree 4 aRT & SRV IAH
IS & URATYT &7 ASid uTed o |

OR(3721d)

Define electromagnetic induction. Explain
Faraday's and Lenz's law.

faga g uRvr & aRWIa &Y | BaS
Ud o~ @ el @ arer R |
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